Name: Date:

Teacher: Class:
A Addition 104
l Why did the cookie go to the hospital? Because he felt crummy!
Calculate.
L 9+0= > 4+5= * 3+4=
4 4+5= > 5+4= ¢ 5+4=
o8+ 1= 8 b5+4= % 0+2=
10. 5+O: 11. 6+3: 12. 3+5:
13. 7+O: 14. 6+3: 15. 6+2:
16. 8+O: 17. 8+1: 18. O+8:
19. 3+6: 20. 9+O: 21. 7+1:
22. 2+6: 23. 9+O: 24. 8+O:
25. 0+1: 26. 9+O: 27. 9+O:
28. 5+3: 29. l+7: 30. 8+O:
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Answer Key Date:

Teacher: Class:
Addition 104
Why did the cookie go to the hospital? Because he felt crummy!
Calculate.
L 9+40=9 * 4+5=9 % 3+4=7
4 4+5=9 > 5+4=9 > 5+4=9
7 84+41=9 8. §5+4=09 9 0+2=2
0. 5+0=5 1. §+3=09 122.3+45=18
8. 74+0=7 4 6+3=9 1> 6+2=28
6. §+0=8 7. 8+1=09 8. 0+8=138
19 346=09 20. 94+0=09 2. 7+1=28
2. 2+6=28 2. 9+0=9 . 8+0=38
5. 0+1=1 6. 9+0=09 2. 9+0=9
8. 5+3=8 29. 1+7=8 3. 8+0=38
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